HENEREREES ik
SM3E3H18H (K)

6::550) (81 @ kg )
pE i miEH o2 = B Z B " =

S 21% RAIT 392.5 30 20
£S5 782.8 1,446 198
HAFLA 179.0 290 41
AATHLA 21.1 943 346
JUH LA 3,520.4 711 20
LSHLA 70.5 323 20
FHHLA 116.2 111 20
TFELSHLA 620.2 1,089 119
=EAHLA 168.2 264 20
HSRALA 214.7 48 20
%55 1,572.5 120 20
<9 SH 130.0 700 500 [ e
2007 60.3 196 39
FARLY 1,532.5 1,340 577
<7+ 41.3 1,609 1,000
TYUAYTAFA 174.0 120 20
TVAYTAF A 45.0 800 669 [gim . o
F7> 07 3,700.1 386 20
NFHS 258.8 43 20
FAF X 43.3 2,000 109
<79 64.6 81 20
AXHHd 732.5 789 20

I 14,440.5




€::3°2) (47 : kg )
e gy {El {(El fm =
HIE 218 TH= 5,000 1,100
AILAA T 309 50
e e . 14C/S
RILAA FI58 2,500 1,582 Bl /s
UL 886 493
e F5e==g 92C/S
U A 158 5,000 2,919 Bl o/s
ZRIAH 478 369
=X471 509 119
Y4453 273 20
AFF~<3 1,320 1,000
s 18,680.2




¢::3=:) (BT ¢ kg )
JRSETELE =SV N = = 1B =Z 1B B &
EERERHE 30£ |=0OX/VUlL 933.4 809 409
XAXF 70.9 296 159
ASHISSIA 955.0 460 250
ARERfE 102 ASHISSIA 1,841.9 550 250
#}]D 11 > up YAVIN 120.1 819 300
h 158 JOUSHL A 53.2 359 30
EXTVYRS 118.2 169 81
EXRVHA 84.2 219 179

4,176.9




[i&&) (BT ¢ kg )
JRSETELE =SV N = = 1B /[E] B &
HE 212 <73 303.1 2,500 1,600
BEEXRE 308 [XXF 110.1 500 400
#}D 4& E=5 X 118.7 2,000 500
h 158 <A 32.0 850 600
=45 26.9 500 350

A
[ =]

T2

590.8




